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N | A w = E x £ mE | ZRE) s
1 5/5 |TEXHERE-BE FIMmEXHE e 5,000
2 | 5/8 |HEHSEEISESH FHHEELEES B | 10000 | TR ETE
3 5/9 |THRERFEHSTE FIHmAEHS e 5,000
4 | 5/10 |HPTAEESHRE FLHPTAEES e 5,000
5 | 5/10 |MiEEKEIEEHRERS FLMEEKEIREHES e 5,000
6 | 5/13 |fEEMRIRE<#ES TEEM KR = e 5,000
7 | 5/16 |2019FERARFERRERS ERAREFR E= 5,000
8 | 5/17 |MERXYEHRSBEERS FIHEAVERS =8 5,000
o | 519 | ENLENHEEATREZOOIER |y ot momt 1 1ok iR 2% | 1,500
10 | 5/21 [FX7—FTPEELARESESE (T —TYEELFEHES =8 2,000
1| sz |[TARPAERIARSTHINE |prpoiegemrasoes | 2% | 500
12 | 5/25 |HESBRESBRS T EHREES 2% | so0 | HEHE
13 | 5/25 [NPOEASERR—VISTHE NPOSEANSERKR—YHTT =& 5,000
14 | 5/26 |ERHMRIRERESKEE ERRIREGES nE 5,000
15 | 5/30 |MEHHRIRERKES HHEEXRES e 5,000
16 | 5/30 [FrHRMASHBEERS FIARER R Mz 5,000
17 | 5/31 |MREREERERLS FrhRAEREERES #& | 5000
& it 83,500




